7) The rules of logs state that: 
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Using this rule (with m=9 and n=7), we get:
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On the CASIO fx-85GT calculator, use the

key to find the logarithm of a number to base 10. 
This key is near the top right-hand corner of the calculator, two down and one to the left of the ON key. 

Key in: 
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Your calculator should report the answer as:

6.679697566

which to 2 decimal places is:

6.68
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Note that the open bracket “(“ appears on the screen when the
   key is pressed, which is why we press the close bracket “)” key after the “9” in this calculation.

You can also use your calculator to check this rule of logs by keying in:
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Your calculator should report the answer as:

6.679697566

which to 2 decimal places is:

6.68

This demonstrates that you get the same numerical answer for 
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as you do for
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In session 3, we saw that, on the CASIO fx-85GT calculator, to raise a number to a power you can use the    
        key (use SHIFT and this key for roots), which is on the third row from the top. 

Note that when this key is pressed, an open bracket “(” appears on the screen and so we need to press the “)” key to close the bracket. The “(” and “)” keys are in the middle of the CASIO fx-85GT calculator. Note too that the screen displays “raising to the power” as “^” when the 
key is pressed).

More formally, we can show that the rule above holds by using the definition of indices and the multiplication rule of logs.

The definition of indices tells us:


  

where m is multiplied by itself n times inside this bracket.

Taking logs of both sides gives:


The multiplication rule of logs states that: 
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Using the multiplication rule of logs (with m=m and n=m) in the equation above gives:
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